Seat No.: Enrolment No.
GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGG.- IV" SEMESTER-EXAMINATION - JUNE- 2012
Subject code: 342901 Date: 18/06/2012

Subject Name: Yarn Manufacturing Technology-I1

Time: 02:30 pm — 05:00 pm

Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic

Q.1

Q.2

Q.3

Q.3

Q.4

Q.5

Q.5

State object of comber process and explain the necessity of lap
preparation for combing.

Total Marks: 70

State object of speed frame and write only principle of winding for speed 07

frame.

List the different types of ring used in ring frame and explain any one in
detail.
Explain cycle of operation of comber with a neat sketch.

OR

Explain significant Modern developments in combing.

State comber defects their causes and remedies.

Explain Tweedles pattent differential motion in speed frame.
OR

Explain function of builder motion in speed frame.

Describe any three design change in modern speed frame.

List the type of Fancy yarns and explain the production of any one.
Explain S.K.F Drafting system used in ring frame.
OR
Explain principle of twisting and winding in ring frame.
Explain with neat sketch willow waste opener.

List the type of threading systems used in Doubling & explain any one.
Explain with the help of neat sketch passage of material through ring
frame.

OR

Calculate the production of speed frame m/c in kgs from the following
particulars.

(1) Spindle Speed ;950 rpm
(2) No of spindles . 140

(3) T.P.I . 1.58

(4) Efficiency : 84%

(5) Working hours : 8

(6) Hank of rove : 1.3 Ne

Calculate Twist per meter, production per spindle in grams / hour from
the following detail of a Ring frame m/c.
(1) Spindle Speed : 9800 rpm
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(2) Working hours |

(3) Front roller dia : 2.54cm
(4) Front roller speed : 170 rpm
(5) Count of yarn : 45 (Nm)
(6) Efficiency : 92%
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(1) Wloscd s ;950 AR ULAN.
(?) Wloscall Rivul : 140

(3) LUl : 1.58

(¥) staHl . 84

(W) stHall scusl . 8

(5) Ad oll &os : 1.3 Ne

o(lAefl Al NotzH HAllotoll QotA uell 2cflze wR Hlez
As WloSAHa] AU UR sASHL Gaulest 0.

(1) losct s : 9800 R LK.
(R) slHoll AHA ;1

(3) $o@ AARall AN : 2.54 cm

¢¥) o2 ARl Ul ;170 AR JLAN,
(W) YctRell s : 45(Nm)

(s) slAaHcll : 92%
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